									CURRENT RAT	ES		PROPO:	SED RATES
Monopoly Fee	Category	Sub Category	Measure	Туре	Assumptions	Rate (Incl GST)	Rate (Excl GST)	AER Hourly ) Rate (Incl GST	) Type	Standard Hours	Current Fee (Incl GST)	Proposed Fee (Excl GST)	Proposed Fee (incl GST)
		URD	Underground - Number of lots	1-5		\$212	\$192.73	\$70	Administration	3	\$212	\$198	\$217
		URD	Underground - Number of lots	6-10		\$284	\$258.18	\$70	Administration	4	\$284	\$265	\$291
		URD	Underground - Number of lots	11- 40		\$354	\$321.82	\$70	Administration	5	\$354	\$330	\$363
		URD	Underground - Number of lots	41 +		\$426	\$387.27	\$70	Administration	6	\$426	\$397	\$437
		Non Urban	Underground - Number of lots	1-5		\$212	\$192.73	\$70	Administration	3	\$212	\$198	\$217
		Non Urban	Underground - Number of lots	6-10		\$284	\$258.18	\$70	Administration	4	\$284	\$265	\$291
	Subdivision	Non Urban	Underground - Number of lots	11-40		\$354	\$321.82	\$70	Administration	5	\$354	\$330	\$363
		Non Urban	Underground - Number of lots	41 +		\$426	\$387.27	\$70	Administration	6	\$426	\$397	\$437
		Non Urban	Overhead - Number of poles	1-5		\$212	\$192.73	\$70	Administration	3	\$212	\$198	\$217
		Non Urban	Overhead - Number of poles	6-10		\$284	\$258.18	\$70	Administration	4	\$284	\$265	\$291
A destroy to the state of		Non Urban	Overhead - Number of poles	11 +		\$426	\$387.27	\$70	Administration	6	\$426	\$397	\$437
Administration Fee		Industrial / Commercial	Per Hour	Maximum 6 Hour	s Average hours calculated by project analysis for 3 years	\$70	\$63.64	\$70	Administration	Hourly	\$70	\$65	\$72
		URD	Per Hour	Minimum 3 hours	Average hours calculated by project analysis for 3 years	\$70	\$63.64	\$70	Administration	Hourly	\$70	\$65	\$72
		Industrial / Commercial	Per Hour	Minimum 3 hours	Average hours calculated by project analysis for 3 years	\$70	\$63.64	\$70	Administration	Hourly	\$70	\$65	\$72
		Non Urban	Underground - Per Hour	Maximum 6 Hour	s Average hours calculated by project analysis for 3 years	\$70	\$63.64	\$70	Administration	Hourly	\$70	\$65	\$72
	Connection of Loa	ad Non Urban	Overhead - Number of poles	1-5		\$212	\$192.73	\$70	Administration	3	\$212	\$198	\$217
		Non Urban	Overhead - Number of poles	6-10		\$284	\$258.18	\$70	Administration	4	\$284	\$265	\$291
		Non Urban	Overhead - Number of poles	11 +		\$426	\$387.27	\$70	Administration	6	\$426	\$397	\$437
		Asset Relocation	Per Hour		Average hours calculated by project analysis for 3 years	\$70	\$63.64	\$70	Administration	Hourly	\$70	\$65	\$72
	Other	Public Lighting	Per Hour	Minimum 3 hours	Average hours calculated by project analysis for 3 years	\$70	\$63.64	\$70	Administration	Hourly	\$70	\$65	\$72

									CURRENT	T RATES		PROPOS	SED RATES
Monopoly Fee	Category	Sub Category	Measure	Туре	Assumptions	Rate (Incl GST)	Rate (Excl GST)	AER Hourly Rate (Incl GST)	Туре	Standard Hours	Current Fee (Incl GST)	Proposed Fee (Excl GST)	Proposed Fee (incl GST)
		URD	Underground - Number of lots	1-5		\$175	\$159.09	\$88	Designer	2	\$175	\$163	\$179
		URD	Underground - Number of lots	6-10		\$263	\$239.09	\$88	Designer	3	\$263	\$245	\$270
		URD	Underground - Number of lots	11-40		\$438	\$398.18	\$88	Designer	5	\$438	\$408	\$449
	Subdivision	URD	Underground - Number of lots	41 +		\$526	\$478.18	\$88	Designer	6	\$526	\$490	\$539
		Non Urban	Per Hour	Minimum 2 hours	Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90
		Industrial / Commercial	Per Hour	Minimum 2 hours	Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90
		Industrial / Commercial	<= 200A/Phase (LV)		Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90
		Industrial / Commercial	<= 700A/Phase (LV)		Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90
		Industrial / Commercial	> 700A/Phase (LV)	Minimum 20 hours	Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90
		Industrial / Commercial	HV Customer	Minimum 25 hours	Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90
		Industrial / Commercial	Transmission	Minimum 35 hours	Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90
		Multi-Dwelling	<= 5 units	Minimum 2 hours	Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90
		Multi-Dwelling	<= 20 units	Minimum 5 hours	Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90
		Multi-Dwelling	<= 40 units	Minimum 10 hours	Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90
Design		Multi-Dwelling	> 40 units	Minimum 20 hours	Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90
Information Fee	Connection of Load	Non Urban - I&C	<= 200A/Phase (LV)	Minimum 6 hours	Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90
	Confidential to Load	Non Urban - I&C	<= 700A/Phase (LV)	Minimum 12 hours	Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90
		Non Urban - I&C	> 700A/Phase (LV)	Minimum 20 hours	Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90
		Non Urban - I&C	HV Customer	Minimum 25 hours	Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90
		Non Urban - I&C	Transmission	Minimum 35 hours	Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90
		Non Urban - Multi-Dwelling	<= 5 units	Minimum 2 hours	Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90
		Non Urban - Multi-Dwelling	<= 20 units	Minimum 5 hours	Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90
		Non Urban - Multi-Dwelling	<= 40 units		Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90
		Non Urban - Multi-Dwelling	> 40 units	Minimum 20 hours	Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90
		Non Urban - Single Residential	Per Hour	Minimum 2 hours	Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90
		Asset Relocation	\$106 Per Hour		Average hours calculated by project analysis for 3 years	\$106	\$96.36	\$106	Engineer	Hourly	\$106	\$99	\$109
		Asset Relocation	\$88 Per Hour		Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90
	Other	Public Lighting	\$106 Per Hour		Average hours calculated by project analysis for 3 years	\$106	\$96.36	\$106	Engineer	Hourly	\$106	\$99	\$109
		Public Lighting	\$88 Per Hour	Minimum 2 hours	Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90

							I		CURRENT RAT	ES		PROPOSI	ED RATES
Monopoly Fee	Category	Sub Category	Measure	Туре	Assumptions	Rate (Incl GST)	Rate (Excl GST)	AER Hourly Rate (Incl GST)	Туре	Standard Hours	Current Fee (Incl GST)	Proposed Fee (Excl GST)	Proposed Fee (incl GST)
		URD	Underground - Number of lots	1-5		\$88	\$80.00	\$88	Designer	1	\$88	\$82	\$90
		URD	Underground - Number of lots	6-10		\$175	\$159.09	\$88	Designer	2	\$175	\$163	\$179
		URD	Underground - Number of lots	11-40		\$263	\$239.09	\$88	Designer	3	\$263	\$245	\$270
		URD	Underground - Number of lots	41 +		\$350	\$318.18	\$88	Designer	4	\$350	\$326	\$359
		Non Urban	Underground - Number of lots	1-5		\$88	\$80.00	\$88	Designer	1	\$88	\$82	\$90
		Non Urban	Underground - Number of lots	6-10		\$175	\$159.09	\$88	Designer	2	\$175	\$163	\$179
		Non Urban	Underground - Number of lots	11-40		\$263	\$239.09	\$88	Designer	3	\$263	\$245	\$270
		Non Urban	Underground - Number of lots	41 +		\$350	\$318.18	\$88	Designer	4	\$350	\$326	\$359
	Subdivision	Non Urban	Overhead - Number of poles	1-5		\$88	\$80.00	\$88	Designer	1	\$88	\$82	\$90
	Subdivision	Non Urban	Overhead - Number of poles	6-10		\$175	\$159.09	\$88	Designer	2	\$175	\$163	\$179
		Non Urban	Overhead - Number of poles	11 +		\$263	\$239.09	\$88	Designer	3	\$263	\$245	\$270
		Industrial / Commercial	Underground - Number of lots	1-10		\$175	\$159.09	\$88	Designer	2	\$175	\$163	\$179
		Industrial / Commercial	Underground - Number of lots	11-40		\$263	\$239.09	\$88	Designer	3	\$263	\$245	\$270
		Industrial / Commercial	Underground - Number of lots	41 +		\$526	\$478.18	\$88	Designer	6	\$526	\$490	\$539
		Industrial / Commercial	Overhead - Number of poles	1-5		\$88	\$80.00	\$88	Designer	1	\$88	\$82	\$90
		Industrial / Commercial	Overhead - Number of poles	6-10		\$175	\$159.09	\$88	Designer	2	\$175	\$163	\$179
		Industrial / Commercial	Overhead - Number of poles	11 +		\$263	\$239.09	\$88	Designer	3	\$263	\$245	\$270
						4_55	,	444			V	<del></del>	4-1-0
Design		Industrial / Commercial	<= 200A/Phase (LV)	Minimum 5 hours	Average hours calculated by project analysis for 3 years	\$106	\$96.36	\$106	Engineer	Hourly	\$106	\$99	\$109
Certification Fee		Industrial / Commercial	<= 700A/Phase (LV)		Average hours calculated by project analysis for 3 years	\$106	\$96.36	\$106	Engineer	Hourly	\$106	\$99	\$109
		Industrial / Commercial	> 700A/Phase (LV)		Average hours calculated by project analysis for 3 years	\$106	\$96.36	\$106	Engineer	Hourly	\$106	\$99	\$109
		Industrial / Commercial	HV Customer		Average hours calculated by project analysis for 3 years	\$106	\$96.36	\$106	Engineer	Hourly	\$106	\$99	\$109
		Industrial / Commercial	Transmission		Average hours calculated by project analysis for 3 years	\$106	\$96.36	\$106	Engineer	Hourly	\$106	\$99	\$109
		Multi-Dwellina	<= 5 units		Average hours calculated by project analysis for 3 years	\$106	\$96.36	\$106	Engineer	Hourly	\$106	\$99	\$109
		Multi-Dwellina	<= 20 units		Average hours calculated by project analysis for 3 years	\$106	\$96.36	\$106	Engineer	Hourly	\$106	\$99	\$109
	Connection of Loa	3	<= 40 units		Average hours calculated by project analysis for 3 years	\$106	\$96.36	\$106	Engineer	Hourly	\$106	\$99	\$109
		Multi-Dwelling	> 40 units		Average hours calculated by project analysis for 3 years	\$106	\$96.36	\$106	Engineer	Hourly	\$106	\$99	\$109
		Non Urban	Underground - Per Hour		Average hours calculated by project analysis for 3 years	\$106	\$96.36	\$106	Engineer	Hourly	\$106	\$99	\$109
		Non Urban	Underground - Number of poles	1-5	Thomago notice edicatation by project analysis for a years	\$88	\$80.00	\$88	Designer	1	\$88	\$82	\$90
		Non Urban	Underground - Number of poles	6-10		\$175	\$159.09	\$88	Designer	2	\$175	\$163	\$179
		Non Urban	Underground - Number of poles	11 +		\$263	\$239.09	\$88	Designer	3	\$263	\$245	\$270
		Indoor Substation	Per Hour	Minimum 3 hours		\$106	\$96.36	\$106	Engineer	1	\$106	\$99	\$109
		indoor Substation	l el rioui	William Griours		Ψ100	ψ30.30	\$100	Liigiileei	'	\$100	ΨΘΘ	Ψ109
		Asset Relocation	\$106 Per Hour		Average hours calculated by project analysis for 3 years	\$106	\$96.36	\$106	Engineer	Hourly	\$106	\$99	\$109
		Asset Relocation	\$88 Per Hour		Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90
	Other	Public Lighting	\$106 Per Hour		Average hours calculated by project analysis for 3 years	\$106	\$96.36	\$106	Engineer	Hourly	\$106	\$99	\$109
		Public Lighting	\$88 Per Hour		Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90

									CURRENT RAT	ES		PROPOS	ED RATES
Monopoly Fee	Category	Sub Category	Measure	Туре	Assumptions	Rate (Incl GST)	Rate (Excl GST)	AER Hourly Rate (Incl GST)	) Type	Standard Hours	Current Fee (Incl GST)	Proposed Fee (Excl GST)	Proposed Fee (incl GST)
		Industrial & Commercial	\$88 Per Hour	Minimum 2 hours	Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90
	Subdivision	Non Urban	\$88 Per Hour	Minimum 2 hours	Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90
	Oubdivision	URD	\$88 Per Hour	Minimum 2 hours	Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90
												\$0	\$0
		Industrial & Commercial	\$106 Per Hour	Minimum 2 hours	Average hours calculated by project analysis for 3 years	\$106	\$96.36	\$106	Engineer	Hourly	\$106	\$99	\$109
Design Re-	Connection of Load	Non Urban	\$106 Per Hour	Minimum 2 hours	Average hours calculated by project analysis for 3 years	\$106	\$96.36	\$106	Engineer	Hourly	\$106	\$99	\$109
certification Fee		URD	\$106 Per Hour	Minimum 2 hours	Average hours calculated by project analysis for 3 years	\$106	\$96.36	\$106	Engineer	Hourly	\$106	\$99	\$109
		Asset Relocation	\$106 Per Hour		Average hours calculated by project analysis for 3 years	\$106	\$96.36	\$106	Engineer	Hourly	\$106	\$99	\$109
		Asset Relocation	\$88 Per Hour		Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90
	Other	Public Lighting	\$106 Per Hour		Average hours calculated by project analysis for 3 years	\$106	\$96.36	\$106	Engineer	Hourly	\$106	\$99	\$109
		Public Lighting	\$88 Per Hour		Average hours calculated by project analysis for 3 years	\$88	\$80.00	\$88	Designer	Hourly	\$88	\$82	\$90

									CURRENT RAT	ES		PROPOS	ED RATES
Monopoly Fee	Category	Sub Category	Measure	Туре	Assumptions	Rate (Incl GST)		AER Hourly Rate (Incl GST)			Current Fee (Incl GST)	Proposed Fee (Excl GST)	Proposed Fee (incl GST)
		Industrial & Commercial	\$212 Per Request	Per Request		\$212	\$192.73	\$70	Administraion	3	\$212	\$198	\$217
		Non Urban	\$212 Per Request	Per Request		\$212	\$192.73	\$70	Administraion	3	\$212	\$198	\$217
Notification of		URD	\$212 Per Request	Per Request		\$212	\$192.73	\$70	Administraion	3	\$212	\$198	\$217
Notification of Arrangement	Subdivision	Industrial & Commercial	\$70 per hour for early notification of arrangement	Early Notification	Average hours calculated by project analysis for 3 years	\$70	\$63.64	\$70	Administraion	Hourly	\$70	\$65	\$72
Artangement		Non Urban	\$70 per hour for early notification of arrangement	Early Notification	Average hours calculated by project analysis for 3 years	\$70	\$63.64	\$70	Administraion	Hourly	\$70	\$65	\$72
		URD	\$70 per hour for early notification of arrangement	Early Notification	Average hours calculated by project analysis for 3 years	\$70	\$63.64	\$70	Administraion	Hourly	\$70	\$65	\$72

									CURRENT RAT	ES		PROPOS	ED RATES
Monopoly Fee	Category	Sub Category	Measure	Type	Assumptions	Rate (Incl GST	Rate ) (Excl GST)	AER Hourly ) Rate (Incl GST)	Туре		Current Fee (Incl GST)	Proposed Fee (Excl GST)	Proposed Fee (incl GST
		Industrial & Commercial	\$212 Per Request	Per Request		\$212	\$192.73	\$70	Administraion	3	\$212	\$198	\$217
		Non Urban	\$212 Per Request	Per Request		\$212	\$192.73	\$70	Administraion	3	\$212	\$198	\$217
Compliance		URD	\$212 Per Request	Per Request		\$212	\$192.73	\$70	Administraion	3	\$212	\$198	\$217
Compliance Certificate	Connection of Load	Industrial & Commercial	\$70 per hour for early compliance certificate	Early Compliance		\$70	\$63.64	\$70	Administraion	Hourly	\$70	\$65	\$72
Certificate		Non Urban	\$70 per hour for early compliance certificate	Early Compliance		\$70	\$63.64	\$70	Administraion	Hourly	\$70	\$65	\$72
		URD	\$70 per hour for early compliance certificate	Early Compliance		\$70	\$63.64	\$70	Administraion	Hourly	\$70	\$65	\$72

									CURRENT RAT	ES		PROPOSE	ED RATES
						Rate	Rate	AER Hourly		Standard	Current Fee	Proposed Fee (Excl	
Monopoly Fee C	Category	Sub Category	Measure	Type	Assumptions			Rate (Incl GST)	Type	Hours	(Incl GST)		Proposed Fee (incl GST)
	g,	URD	Underground per lot - ASP Grade "A"	1-10	Subdivision - URD - Underground - Per Lot (1 - 10) - Grade A	\$44	\$40.00	\$88	Inspector	0.50	\$44	\$41	\$45
		URD	Underground per lot - ASP Grade "A"	11-50	Subdivision - URD - Underground - Per Lot (11 - 50) - Grade A	\$26	\$23.64	\$88	Inspector	0.30	\$26	\$24	\$27
		URD	Underground per lot - ASP Grade "A"	51 +	Subdivision - URD - Underground - Per Lot (51 +) - Grade A	\$9	\$8.18	\$88	Inspector	0.10	\$9	\$8	\$9
		URD	Underground per lot - ASP Grade "B"	1-10	Subdivision - URD - Underground - Per Lot (1 - 10) - Grade B	\$106	\$96.36	\$88	Inspector	1.20	\$106	\$99	\$109
		URD	Underground per lot - ASP Grade "B"	11-50	Subdivision - URD - Underground - Per Lot (11 - 50) - Grade B	\$62	\$56.36	\$88	Inspector	0.70	\$62	\$58	\$64
		URD	Underground per lot - ASP Grade "B"	51 +	Subdivision - URD - Underground - Per Lot (51 +) - Grade B	\$35	\$31.82	\$88	Inspector	0.40	\$35	\$33	\$36
		URD	Underground per lot - ASP Grade "C"	1-10	Subdivision - URD - Underground - Per Lot (1 - 10) - Grade C	\$220	\$200.00	\$88	Inspector	2.50	\$220	\$205	\$226
		URD	Underground per lot - ASP Grade "C"	11-50	Subdivision - URD - Underground - Per Lot (11 - 50) - Grade C	\$132	\$120.00	\$88	Inspector	1.50	\$132	\$123	\$135
		URD	Underground per lot - ASP Grade "C"	51 +	Subdivision - URD - Underground - Per Lot (51 +) - Grade C	\$62	\$56.36	\$88	Inspector	0.70	\$62	\$58	\$64
		URD	Underground per hour	Per Hour	Subdivision - URD - Underground - \$88 per hour + \$44 travel time	\$88	\$80.00	\$88	Inspector	Hourly	\$88	\$82	\$90
		Non Urban	Underground per lot - ASP Grade "A"	1-10	Subdivision - Non Urban - Underground - Per Lot (1 - 10) - Grade A	\$44	\$40.00	\$88	Inspector	0.50	\$44	\$41	\$45
		Non Urban	Underground per lot - ASP Grade "A"	11-50	Subdivision - Non Urban - Underground - Per Lot (11 - 50) - Grade A	\$26	\$23.64	\$88	Inspector	0.30	\$26	\$24	\$27
		Non Urban	Underground per lot - ASP Grade "A"	51 +	Subdivision - Non Urban - Underground - Per Lot (51+) - Grade A	\$9	\$8.18	\$88	Inspector	0.10	\$9	\$8	\$9
		Non Urban	Underground per lot - ASP Grade "B"	1-10	Subdivision - Non Urban - Underground - Per Lot (1 - 10) - Grade B	\$106	\$96.36	\$88	Inspector	1.20	\$106	\$99	\$109
		Non Urban	Underground per lot - ASP Grade "B"	11-50	Subdivision - Non Urban - Underground - Per Lot (11 - 50) - Grade B	\$62	\$56.36	\$88	Inspector	0.70	\$62	\$58	\$64
		Non Urban	Underground per lot - ASP Grade "B"	51 +	Subdivision - Non Urban - Underground - Per Lot (51+) - Grade B	\$35	\$31.82	\$88	Inspector	0.40	\$35	\$33	\$36
		Non Urban	Underground per lot - ASP Grade "C"	1-10	Subdivision - Non Urban - Underground - Per Lot (1 - 10) - Grade C	\$220	\$200.00	\$88	Inspector	2.50	\$220	\$205	\$226
		Non Urban	Underground per lot - ASP Grade "C"	11-50	Subdivision - Non Urban - Underground - Per Lot (11 - 50) - Grade C	\$132	\$120.00	\$88	Inspector	1.50	\$132	\$123	\$135
		Non Urban	Underground per lot - ASP Grade "C"	51 +	Subdivision - Non Urban - Underground - Per Lot (51+) - Grade C	\$62	\$56.36	\$88	Inspector	0.70	\$62	\$58	\$64
		Non Urban	Overhead per pole or pole sub - ASP Grade "A"	1-5	Subdivision - Non Urban - Overhead - Per Pole (1 - 5) - Grade A	\$53	\$48.18	\$88	Inspector	0.60	\$53	\$49	\$54
		Non Urban	Overhead per pole or pole sub - ASP Grade "A"	6-10	Subdivision - Non Urban - Overhead - Per Pole (6 - 10) - Grade A	\$44	\$40.00	\$88	Inspector	0.50	\$44	\$41	\$45
		Non Urban	Overhead per pole or pole sub - ASP Grade "A"	11 +	Subdivision - Non Urban - Overhead - Per Pole (11 +) - Grade A	\$35	\$31.82	\$88	Inspector	0.40	\$35	\$33	\$36
		Non Urban	Overhead per pole or pole sub - ASP Grade "A"	per pole sub	Subdivision - Non Urban - Overhead - Per Pole Sub - Grade A	\$308	\$280.00	\$88	Inspector	3.50	\$308	\$287	\$316
		Non Urban	Overhead per pole or pole sub - ASP Grade "B"	1-5	Subdivision - Non Urban - Overhead - Per Pole (1 - 5) - Grade B	\$106	\$96.36	\$88	Inspector	1.20	\$106	\$99	\$109
	Subdivision	Non Urban	Overhead per pole or pole sub - ASP Grade "B"	6-10	Subdivision - Non Urban - Overhead - Per Pole (6 - 10) - Grade B	\$88	\$80.00	\$88	Inspector	1.00	\$88	\$82	\$90
Inspection Fee	Subdivision	Non Urban	Overhead per pole or pole sub - ASP Grade "B"	11 +	Subdivision - Non Urban - Overhead - Per Pole (11 +) - Grade B	\$62	\$56.36	\$88	Inspector	0.70	\$62	\$58	\$64
inspection ree		Non Urban	Overhead per pole or pole sub - ASP Grade "B"	per pole sub	Subdivision - Non Urban - Overhead - Per Pole Sub - Grade B	\$616	\$560.00	\$88	Inspector	7.00	\$616	\$574	\$631
		Non Urban	Overhead per pole or pole sub - ASP Grade "C"	1-5	Subdivision - Non Urban - Overhead - Per Pole (1 - 5) - Grade C	\$194	\$176.36	\$88	Inspector	2.20	\$194	\$181	\$199
		Non Urban	Overhead per pole or pole sub - ASP Grade "C"	6-10	Subdivision - Non Urban - Overhead - Per Pole (6 - 10) - Grade C	\$175	\$159.09	\$88	Inspector	1.99	\$175	\$163	\$179
		Non Urban	Overhead per pole or pole sub - ASP Grade "C"	11 +	Subdivision - Non Urban - Overhead - Per Pole (11 +) - Grade C	\$132	\$120.00	\$88	Inspector	1.50	\$132	\$123	\$135
		Non Urban	Overhead per pole or pole sub - ASP Grade "C"	per pole sub	Subdivision - Non Urban - Overhead - Per Pole Sub - Grade C	\$774	\$703.64	\$88	Inspector	8.80	\$774	\$721	\$793
		Industrial / Commercial	Overhead per pole or pole sub - ASP Grade "A"	1-5	Subdivision - Industrial & Commercial - Overhead - Per Pole (1 - 5) - Grade A	\$53	\$48.18	\$88	Inspector	0.60	\$53	\$49	\$54
		Industrial / Commercial	Overhead per pole or pole sub - ASP Grade "A"	6-10	Subdivision - Industrial & Commercial - Overhead - Per Pole (6 - 10) - Grade A	\$44	\$40.00	\$88	Inspector	0.50	\$44	\$41	\$45
		Industrial / Commercial	Overhead per pole or pole sub - ASP Grade "A"	11 +	Subdivision - Industrial & Commercial - Overhead - Per Pole (11 +) - Grade A	\$35	\$31.82	\$88	Inspector	0.40	\$35	\$33	\$36
		Industrial / Commercial	Overhead per pole or pole sub - ASP Grade "A"	per pole sub	Subdivision - Industrial & Commercial - Overhead - Per Pole Sub - Grade A	\$308	\$280.00	\$88	Inspector	3.50	\$308	\$287	\$316
		Industrial / Commercial	Overhead per pole or pole sub - ASP Grade "B"	1-5	Subdivision - Industrial & Commercial - Overhead - Per Pole (1 - 5) - Grade B	\$106	\$96.36	\$88	Inspector	1.20	\$106	\$99	\$109
		Industrial / Commercial	Overhead per pole or pole sub - ASP Grade "B"	6-10	Subdivision - Industrial & Commercial - Overhead - Per Pole (6 - 10) - Grade B	\$88	\$80.00	\$88	Inspector	1.00	\$88	\$82	\$90
		Industrial / Commercial	Overhead per pole or pole sub - ASP Grade "B"	11 +	Subdivision - Industrial & Commercial - Overhead - Per Pole (11 +) - Grade B	\$62	\$56.36	\$88	Inspector	0.70	\$62	\$58	\$64
		Industrial / Commercial	Overhead per pole or pole sub - ASP Grade "B"	per pole sub	Subdivision - Industrial & Commercial - Overhead - Per Pole Sub - Grade B	\$616	\$560.00	\$88	Inspector	7.00	\$616	\$574	\$631
		Industrial / Commercial	Overhead per pole or pole sub - ASP Grade "C"	1-5	Subdivision - Industrial & Commercial - Overhead - Per Pole (1 - 5) - Grade C	\$194	\$176.36	\$88	Inspector	2.20	\$194	\$181	\$199
		Industrial / Commercial	Overhead per pole or pole sub - ASP Grade "C"	6-10	Subdivision - Industrial & Commercial - Overhead - Per Pole (6 - 10) - Grade C	\$175	\$159.09	\$88	Inspector	1.99	\$175	\$163	\$179
		Industrial / Commercial	Overhead per pole or pole sub - ASP Grade "C"	11 +	Subdivision - Industrial & Commercial - Overhead - Per Pole (11 +) - Grade C	\$132	\$120.00	\$88	Inspector	1.50	\$132	\$123	\$135
		Industrial / Commercial	Overhead per pole or pole sub - ASP Grade "C"	per pole sub	Subdivision - Industrial & Commercial - Overhead - Per Pole Sub - Grade C	\$774	\$703.64	\$88	Inspector	8.80	\$774	\$721	\$793
		Industrial / Commercial	Underground per lot - ASP Grade "A"	1 - 10	Subdivision - Industrial & Commercial - Underground - Per Lot (1 - 10) - Grade A	\$44	\$40.00	\$88	Inspector	0.50	\$44	\$41	\$45
		Industrial / Commercial	Underground per lot - ASP Grade "A"	11 - 50	Subdivision - Industrial & Commercial - Underground - Per Lot (11 - 50) - Grade A	\$44	\$40.00	\$88	Inspector	0.50	\$44	\$41	\$45
		Industrial / Commercial	Underground per lot - ASP Grade "A"	51 +	Subdivision - Industrial & Commercial - Underground - Per Lot (51+) - Grade A	\$44	\$40.00	\$88	Inspector	0.50	\$44	\$41	\$45
		Industrial / Commercial	Underground per lot - ASP Grade "B"	1 - 10	Subdivision - Industrial & Commercial - Underground - Per Lot (1 - 10) - Grade B	\$106	\$96.36	\$88	Inspector	1.20	\$106	\$99	\$109
		Industrial / Commercial	Underground per lot - ASP Grade "B"	11 - 50	Subdivision - Industrial & Commercial - Underground - Per Lot (11 - 50) - Grade B	\$106	\$96.36	\$88	Inspector	1.20	\$106	\$99	\$109
		Industrial / Commercial	Underground per lot - ASP Grade "B"	51 +	Subdivision - Industrial & Commercial - Underground - Per Lot (51+) - Grade B	\$106	\$96.36	\$88	Inspector	1.20	\$106	\$99	\$109
		Industrial / Commercial	Underground per lot - ASP Grade "C"	1 - 10	Subdivision - Industrial & Commercial - Underground - Per Lot (1 - 10) - Grade C	\$220	\$200.00	\$88	Inspector	2.50	\$220	\$205	\$226
		Industrial / Commercial	Underground per lot - ASP Grade "C"	11 - 50	Subdivision - Industrial & Commercial - Underground - Per Lot (11 - 50) - Grade C	\$220	\$200.00	\$88	Inspector	2.50	\$220	\$205	\$226
		Industrial / Commercial	Underground per lot - ASP Grade "C"	51 +	Subdivision - Industrial & Commercial - Underground - Per Lot (51+) - Grade C	\$220	\$200.00	\$88	Inspector	2.50	\$220	\$205	\$226

Monopoly Fee Category	Sub Category  URD  URD  Non Urban  Non Urban	Measure  Underground - Per Hour Overhead - Per Pole	Type  Per Hour  Per Hour  Per Hour  1 -5  1 -5  6 - 10  6 - 10  6 - 10	Assumptions  Connection of Load - URD - Underground - \$88 per hour + \$44 travel time  Connection of Load - URD - Underground - \$106 per hour + \$44 travel time  Connection of Load - Non Urban - Underground - \$88 per hour + \$44 travel time  Connection of Load - Non Urban - Underground - \$106 per hour + \$44 travel time  Connection of Load - Non Urban - Overhead - Per Pole (1 - 5) - Grade A  Connection of Load - Non Urban - Overhead - Per Pole (1 - 5) - Grade C  Connection of Load - Non Urban - Overhead - Per Pole (6 - 10) - Grade A  Connection of Load - Non Urban - Overhead - Per Pole (6 - 10) - Grade B	Rate (Incl GST) \$88 \$106 \$88 \$106 \$53 \$106 \$194 \$44	Rate (Excl GST) \$80.00 \$96.36 \$80.00 \$96.36 \$48.18 \$96.36 \$176.36	AER Hourly Rate (Incl GST) \$88 \$88 \$88 \$88 \$88 \$88 \$88	Inspector Inspector Inspector Inspector Inspector Inspector	Standard Hours Hourly Hourly Hourly 0.60 1.20	Current Fee (Incl GST) \$88 \$106 \$88 \$106 \$53 \$106	Proposed Fee (Excl GST) \$82 \$99 \$82 \$99 \$49 \$99	Proposed Fee (incl GST) \$90 \$109 \$90 \$109 \$54 \$109
	URD Non Urban	Underground - Per Hour Underground - Per Hour Underground - Per Hour Overhead - Per Pole	Per Hour Per Hour Per Hour 1 -5 1 -5 1 -5 6 - 10 6 - 10	Connection of Load - URD - Underground - \$106 per hour + \$44 travel time Connection of Load - Non Urban - Underground - \$88 per hour + \$44 travel time Connection of Load - Non Urban - Underground - \$106 per hour + \$44 travel time Connection of Load - Non Urban - Overhead - Per Pole (1 - 5) - Grade A Connection of Load - Non Urban - Overhead - Per Pole (1 - 5) - Grade B Connection of Load - Non Urban - Overhead - Per Pole (1 - 5) - Grade C Connection of Load - Non Urban - Overhead - Per Pole (6 - 10) - Grade A	\$106 \$88 \$106 \$53 \$106 \$194	\$96.36 \$80.00 \$96.36 \$48.18 \$96.36	\$88 \$88 \$88 \$88 \$88	Inspector Inspector Inspector Inspector Inspector	Hourly Hourly Hourly 0.60 1.20	\$106 \$88 \$106 \$53	\$99 \$82 \$99 \$49	\$109 \$90 \$109 \$54
	Non Urban	Underground - Per Hour Underground - Per Hour Overhead - Per Pole	Per Hour Per Hour 1 -5 1 -5 1 -5 6 - 10 6 - 10	Connection of Load - Non Urban - Underground - \$88 per hour + \$44 travel time Connection of Load - Non Urban - Underground - \$106 per hour + \$44 travel time Connection of Load - Non Urban - Overhead - Per Pole (1 - 5) - Grade A Connection of Load - Non Urban - Overhead - Per Pole (1 - 5) - Grade B Connection of Load - Non Urban - Overhead - Per Pole (1 - 5) - Grade C Connection of Load - Non Urban - Overhead - Per Pole (6 - 10) - Grade A	\$88 \$106 \$53 \$106 \$194	\$80.00 \$96.36 \$48.18 \$96.36	\$88 \$88 \$88 \$88	Inspector Inspector Inspector Inspector	Hourly Hourly 0.60 1.20	\$88 \$106 \$53	\$82 \$99 \$49	\$90 \$109 \$54
	Non Urban Non Urban Non Urban Non Urban Non Urban Non Urban Non Urban Non Urban Non Urban	Underground - Per Hour Overhead - Per Pole	Per Hour 1 -5 1 -5 1 -5 6 - 10 6 - 10	Connection of Load - Non Urban - Underground - \$106 per hour + \$44 travel time Connection of Load - Non Urban - Overhead - Per Pole (1 - 5) - Grade A Connection of Load - Non Urban - Overhead - Per Pole (1 - 5) - Grade B Connection of Load - Non Urban - Overhead - Per Pole (1 - 5) - Grade C Connection of Load - Non Urban - Overhead - Per Pole (6 - 10) - Grade A	\$106 \$53 \$106 \$194	\$96.36 \$48.18 \$96.36	\$88 \$88 \$88	Inspector Inspector Inspector	Hourly 0.60 1.20	\$106 \$53	\$99 \$49	\$109 \$54
	Non Urban Non Urban Non Urban Non Urban Non Urban Non Urban Non Urban Non Urban	Overhead - Per Pole	1 -5 1 -5 1 -5 6 - 10 6 - 10	Connection of Load - Non Urban - Overhead - Per Pole (1 - 5) - Grade A Connection of Load - Non Urban - Overhead - Per Pole (1 - 5) - Grade B Connection of Load - Non Urban - Overhead - Per Pole (1 - 5) - Grade C Connection of Load - Non Urban - Overhead - Per Pole (6 - 10) - Grade A	\$53 \$106 \$194	\$48.18 \$96.36	\$88 \$88	Inspector Inspector	0.60 1.20	\$53	\$49	\$54
	Non Urban Non Urban Non Urban Non Urban Non Urban Non Urban Non Urban	Overhead - Per Pole	1 -5 1 -5 6 - 10 6 - 10	Connection of Load - Non Urban - Overhead - Per Pole (1 - 5) - Grade B Connection of Load - Non Urban - Overhead - Per Pole (1 - 5) - Grade C Connection of Load - Non Urban - Overhead - Per Pole (6 - 10) - Grade A	\$106 \$194	\$96.36	\$88	Inspector	1.20	*	* -	* -
	Non Urban Non Urban Non Urban Non Urban Non Urban Non Urban Non Urban	Overhead - Per Pole	1 -5 6 - 10 6 - 10	Connection of Load - Non Urban - Overhead - Per Pole (1 - 5) - Grade C Connection of Load - Non Urban - Overhead - Per Pole (6 - 10) - Grade A	\$194	-	*	· ·		\$106	\$99	\$109
	Non Urban Non Urban Non Urban Non Urban Non Urban	Overhead - Per Pole	6 - 10 6 - 10	Connection of Load - Non Urban - Overhead - Per Pole (6 - 10) - Grade A		\$176.36	¢88		I		***	T
	Non Urban Non Urban Non Urban Non Urban	Overhead - Per Pole Overhead - Per Pole Overhead - Per Pole	6 - 10	, , , , , , , , , , , , , , , , , , , ,	\$11		ΨΟΟ	Inspector	2.20	\$194	\$181	\$199
	Non Urban Non Urban Non Urban	Overhead - Per Pole Overhead - Per Pole		Connection of Load - Non Urban - Overhead - Per Pole (6 - 10) - Grade B	Ψ++	\$40.00	\$88	Inspector	0.50	\$44	\$41	\$45
	Non Urban Non Urban	Overhead - Per Pole	6 10	Connection of Educative Francisco (C. 16) Chade B	\$88	\$80.00	\$88	Inspector	1.00	\$88	\$82	\$90
	Non Urban		0 - 10	Connection of Load - Non Urban - Overhead - Per Pole (6 - 10) - Grade C	\$175	\$159.09	\$88	Inspector	1.99	\$175	\$163	\$179
			11 +	Connection of Load - Non Urban - Overhead - Per Pole (11 +) - Grade A	\$35	\$31.82	\$88	Inspector	0.40	\$35	\$33	\$36
	Non Urban	Overhead - Per Pole	11 +	Connection of Load - Non Urban - Overhead - Per Pole (11 +) - Grade B	\$62	\$56.36	\$88	Inspector	0.70	\$62	\$58	\$64
	TTOTI OTDATI	Overhead - Per Pole	11 +	Connection of Load - Non Urban - Overhead - Per Pole (11 +) - Grade C	\$132	\$120.00	\$88	Inspector	1.50	\$132	\$123	\$135
	Non Urban	Overhead - Per Sub	Per Pole Sub	Connection of Load - Non Urban - Overhead - Per Pole Sub - Grade A	\$308	\$280.00	\$88	Inspector	3.50	\$308	\$287	\$316
	Non Urban	Overhead - Per Sub	Per Pole Sub	Connection of Load - Non Urban - Overhead - Per Pole Sub - Grade B	\$616	\$560.00	\$88	Inspector	7.00	\$616	\$574	\$631
Connection	n of Load Non Urban	Overhead - Per Sub	Per Pole Sub	Connection of Load - Non Urban - Overhead - Per Pole Sub - Grade C	\$774	\$703.64	\$88	Inspector	8.80	\$774	\$721	\$793
	Industrial / Commercial	Underground - Per Hour	Per Hour	Connection of Load - Industrial & Commercial - Underground - \$88 per hour + \$44	\$88	\$80.00	\$88	Inspector	Hourly	\$88	\$82	\$90
Inspection Fee	Industrial / Commercial	Underground - Per Hour	Per Hour	Connection of Load - Industrial & Commercial - Underground - \$106 per hour + \$4	\$106	\$96.36	\$88	Inspector	Hourly	\$106	\$99	\$109
mapedion rec	Industrial / Commercial	Overhead - Per Pole	1 -5	Connection of Load - Industrial & Commercial - Overhead - Per Pole (1 - 5) - Grad	\$53	\$48.18	\$88	Inspector	0.60	\$53	\$49	\$54
	Industrial / Commercial	Overhead - Per Pole	1 -5	Connection of Load - Industrial & Commercial - Overhead - Per Pole (1 - 5) - Grad	\$106	\$96.36	\$88	Inspector	1.20	\$106	\$99	\$109
	Industrial / Commercial	Overhead - Per Pole	1 -5	Connection of Load - Industrial & Commercial - Overhead - Per Pole (1 - 5) - Grad	\$194	\$176.36	\$88	Inspector	2.20	\$194	\$181	\$199
	Industrial / Commercial	Overhead - Per Pole	6 - 10	Connection of Load - Industrial & Commercial - Overhead - Per Pole (6 - 10) - Gra	\$44	\$40.00	\$88	Inspector	0.50	\$44	\$41	\$45
	Industrial / Commercial	Overhead - Per Pole	6 - 10	Connection of Load - Industrial & Commercial - Overhead - Per Pole (6 - 10) - Gra	\$88	\$80.00	\$88	Inspector	1.00	\$88	\$82	\$90
	Industrial / Commercial	Overhead - Per Pole	6 - 10	Connection of Load - Industrial & Commercial - Overhead - Per Pole (6 - 10) - Gra	\$175	\$159.09	\$88	Inspector	1.99	\$175	\$163	\$179
	Industrial / Commercial	Overhead - Per Pole	11 +	Connection of Load - Industrial & Commercial - Overhead - Per Pole (11+) - Grade	\$35	\$31.82	\$88	Inspector	0.40	\$35	\$33	\$36
	Industrial / Commercial	Overhead - Per Pole	11 +	Connection of Load - Industrial & Commercial - Overhead - Per Pole (11+) - Grade	\$62	\$56.36	\$88	Inspector	0.70	\$62	\$58	\$64
	Industrial / Commercial	Overhead - Per Pole	11 +	Connection of Load - Industrial & Commercial - Overhead - Per Pole (11+) - Grade	\$132	\$120.00	\$88	Inspector	1.50	\$132	\$123	\$135
	Industrial / Commercial	Overhead - Per Sub	Per Pole Sub	Connection of Load - Industrial & Commercial - Overhead - Per Pole Sub - Grade	\$308	\$280.00	\$88	Inspector	3.50	\$308	\$287	\$316
	Industrial / Commercial	Overhead - Per Sub	Per Pole Sub	Connection of Load - Industrial & Commercial - Overhead - Per Pole Sub - Grade	\$616	\$560.00	\$88	Inspector	7.00	\$616	\$574	\$631
	Industrial / Commercial	Overhead - Per Sub	Per Pole Sub	Connection of Load - Industrial & Commercial - Overhead - Per Pole Sub - Grade	\$774	\$703.64	\$88	Inspector	8.80	\$774	\$721	\$793
	Asset Relocation	Per Hour	Per Hour	Asset Relocation - Asset Relocation - Underground - \$88 per hour + \$44 travel tin	\$88	\$80.00	\$88	Inspector	Hourly	\$88	\$82	\$90
	Asset Relocation	Per Hour	Per Hour	Asset Relocation - Asset Relocation - Underground - \$106 per hour + \$44 travel to	\$106	\$96.36	\$88	Inspector	Hourly	\$106	\$99	\$109
Othe	er Public Lighting Assets	Per Hour	Per Hour	Public Lighting - Public Lighting - Underground - \$88 per hour + \$44 travel time	\$88	\$80.00	\$88	Inspector	Hourly	\$88	\$82	\$90
	Public Lighting Assets	Per Hour	Per Hour	Public Lighting - Public Lighting - Underground - \$106 per hour + \$44 travel time	\$106	\$96.36	\$88	Inspector	Hourly	\$106	\$99	\$109

								CURRI	NT RATES		PROPOS	ED RATES
Monopoly Fee	Category	Sub Category	Measure	Туре	Assumptions	Rate (Incl GST)		AER Hourly Rate (Incl GST) Type		Current Fee (Incl GST)	Proposed Fee (Excl GST)	Proposed Fee (incl GST)
	All Other	Industrial & Commercial	\$35 Admin Fee + \$66 per overtime hours + \$1,299 for sw	itching	Admin Fee (\$35 GST Inclusive)	\$35.00	\$31.82		Administration Fee	\$35	\$33	\$36
	All Other	Non Urban	\$35 Admin Fee + \$66 per overtime hours + \$1,299 for sw	itching	Overtime Hours Rate (\$66 GST Inclusive)	\$66.00	\$60.00		Overtime Rate	\$66	\$62	\$68
Inspection of works outside normal working hours	All Other	URD Asset Relocation Public Lighting	\$35 Admin Fee + \$66 per overtime hours + \$1,299 for sw \$35 Admin Fee + \$66 per overtime hours + \$1,299 for sw \$35 Admin Fee + \$66 per overtime hours + \$1,299 for sw	itching itching	Switching Fee (\$1,290 GST inclusive)				Additional Switching	\$1,299	\$1,210	\$1,331

								CURRENT RAT	ES		PROPOS	ED RATES
Monopoly Fee Category	Sub Category	Measure	Туре	Assumptions	Rate (Incl GST)	Rate (Excl GST)	AER Hourly Rate (Incl GST)	Type	Standard Hours	Current Fee (Incl GST)	Proposed Fee (Excl GST)	Proposed Fee (incl GST)
Reinspection Fee (Level 1 & All Level 2 work)	All	\$88 Per Hour	Per Hour	Banner income / \$80 to derive quantity of hours Tariff rate DXXX - Reinspection Fee	\$88	\$80.00	\$88	Inspector	Hourly	\$88	\$82	\$90

													PROPOS	SED RATES
-1							Rate	Pato	AER Hourly		Standard	Current Fee	Proposed Fee (Eyel	
								Itale	ALICITOUTLY		Stanuaru	Current Fee (Incl GST)	Proposed Fee (Excl GST)	
	Monopoly Fee	Category	Sub Category	Measure	Type	Assumptions	(Incl GST)	(EXCLGS1)	Rate (Incl GS1)	Туре	Hours	(Incl GST)	GST)	Proposed Fee (incl GST)
	Reinspection	Category	Sub Category	Measure	Туре	Assumptions	(Incl GST)	(Excl GSI)	Rate (Incl GST)	Туре	Hours	(Incl GST)	GST)	Proposed Fee (incl GST)

								CURRENT RAT	ES		PROPOS	SED RATES
Monopoly Fee Category	Sub Category	Measure	Туре	Assumptions	(Incl GST)	(Excl GST)	Rate (Incl GST	Type	Hours	(Incl GST)	GST)	Proposed Fee (incl GST)
Inspection of	All	Per NOSW	A Grade	Banner Income / \$20 to derive NOSW quantity (Tariff DS4A)	\$22	\$20.00	\$88.00	Per NOSW - Grade A	0.25	\$22	\$21	\$23
service work All	All	Per NOSW	B Grade	Banner Income / \$33 to derive NOSW quantity (Tariff DS4B)	\$36.30	\$33.00	\$88.00	Per NOSW - Grade B	0.41	\$36	\$34	\$37
(Level 2 work)	All	Per NOSW	C Grade	Banner Income / \$96 to derive NOSW quantity (Tariff DS4C)	\$105.60	\$96.00	\$88.00	Per NOSW - Grade C	1.20	\$106	\$98	\$108

									CURRENT RA	ATES		PROPOS	ED RATES
Monopoly Fee	Category	Sub Category	Measure	Туре	Assumptions	Rate (Incl GST)	Rate (Excl GST)	AER Hourly Rate (Incl GST)			Current Fee (Incl GST)		Proposed Fee (incl GST)
	All	All	Normal Time - 1 x Visit - Open / Close - 1 hour	Per Job	Admin Rate \$64 x 1 hour	\$70.40	\$64.00	\$70.40	EFM	1	\$70.40	\$66	\$72
	All	All	Normal Time - 1 x Visit - Open / Isolate & CSO to close -	Per Job	(Admin Rate \$64 + Inspector Rate \$80) x 1 hour	\$158.40	\$144.00	\$158.40	EFM + Inspector	1	\$158.40	\$148	\$162
Dunyinian of	All	All	Normal Time - 2 x Visit - Open / Close & no isolation - 2	Per Job	Admin Rate \$64 x 2 hours	\$140.80	\$128.00	\$70.40	EFM	2	\$140.80	\$131	\$144
Provision of	All	All	Normal Time - 2 x Visit - Open / Isolate / Close - 2 hours	Per Job	(Admin Rate \$64 + Inspector Rate \$80) x 2 hours	\$316.80	\$288.00	\$158.40	EFM + Inspector	2	\$316.80	\$295	\$325
Access Fee (Standby)	All	All	Overtime - 1 x Visit - Open / Close - 1 hour	Per Job	\$64 x 1.75	\$123.20	\$112.00	\$123.20	EFM	1	\$123.20	\$115	\$126
(Standby)	All	All	Overtime - 1 x Visit - Open / Isolate & CSO to close - 1 h	Per Job	\$144 x 1.75	\$277.20	\$252.00	\$277.20	EFM + Inspector	1	\$277.20	\$258	\$284
	All	All	Overtime - 2 x Visit - Open / Close & no isolation - 2 hou	Per Job	\$128 x 1.75	\$246.40	\$224.00	\$123.20	EFM	2	\$246.40	\$230	\$253
	All	All	Overtime - 2 x Visit - Open / Isolate / Close - 2 hours	Per Job	\$288 x 1.75	\$554.40	\$504.00	\$277.20	EFM + Inspector	2	\$554.40	\$517	\$568

								CURRENT RATES				PROPOSED RATES	
Monopoly Fee	Category	Sub Category	Measure	Туре	Assumptions	Rate (Incl GST)		AER Hourly Rate (Incl GST)			Current Fee (Incl GST)	Proposed Fee (Excl GST)	Proposed Fee (incl GST)
	Subdivision	URD	\$30 Per Lot	Per Lot		\$30	\$27.27				\$30	\$28	\$31
	All Other	Industrial & Commercial	Per access authorisation (AA) or authority to work (ATW	Per AA or ATW		\$1,299	\$1,180.91				\$1,299	\$1,210	\$1,331
System	All Other	Non Urban	Per access authorisation (AA) or authority to work (ATW	Per AA or ATW		\$1,299	\$1,180.91				\$1,299	\$1,210	\$1,331
System Switching Fe	All Other	URD	Per access authorisation (AA) or authority to work (ATW	Per AA or ATW		\$1,299	\$1,180.91				\$1,299	\$1,210	\$1,331
Switching Te	All Other	Asset Relocation	Per access authorisation (AA) or authority to work (ATW	Per AA or ATW		\$1,299	\$1,180.91				\$1,299	\$1,210	\$1,331
	All Other	Public Lighting	Per access authorisation (AA) or authority to work (ATW	Per AA or ATW		\$1,299	\$1,180.91				\$1,299	\$1,210	\$1,331

								CURRENT RATES			PROPOSED RATES		
Monopoly Fee	Category	Sub Category	Measure	Туре	Assumptions	Rate (Incl GST)	Rate (Excl GST)	AER Hourly Rate (Incl GST)			Current Fee (Incl GST)	Proposed Fee (Excl GST)	Proposed Fee (incl GST)
	Subdivision	URD	\$30 Per Lot	Per Lot		\$30	\$27.27				\$30	\$28	\$31
	All Other	Industrial & Commercial	\$975 Per Substation	Per Substation		\$975	\$886.36				\$975	\$909	\$999
Cubotation	All Other	Non Urban	\$975 Per Substation	Per Substation		\$975	\$886.36				\$975	\$909	\$999
Commission Foo	All Other	URD	\$975 Per Substation	Per Substation		\$975	\$886.36				\$975	\$909	\$999
Commission ree	All Other	Asset Relocation	\$975 Per Substation	Per Substation		\$975	\$886.36				\$975	\$909	\$999
	All Other	Public Lighting	\$975 Per Substation	Per Substation		\$975	\$886.36				\$975	\$909	\$999

								CURRENT RATES			PROPOSI	PROPOSED RATES	
						Rate	Rate	AER Hourly		Standard	Current Fee	Proposed Fee (Excl GST)	
Monopoly Fee	Category	Sub Category	Measure	Type	Assumptions	(Incl GST)	(Excl GST)	Rate (Incl GST)	Туре	Hours	Current Fee (Incl GST)	GST)	Proposed Fee (incl GST)
Authorisation	All	All	Per Request	Per Request	Income in GL / \$159	\$174.90	\$159.00				\$174.90	\$163	\$179

Monopoly Fee Category Sub Category Sub Category Sub Category Measure Type Assumptions (Incl GST) (Excl GST) Rate (Incl GST) Type Hours (Incl GST)  Site Establishment All All Per new NMI Per NMI Banner income / \$139 to derive quantity of NMI's (Tariff DS4S) \$139.00 \$139.00 \$152.90 \$152.90 \$152.90						CURRENT RATES				PROPOS	PROPOSED RATES	
Site Site Site Site Site Site Site Site	Monopoly Fee Category	(h	Rate	T) (Fx	Rate		Tyne	Standard	Current Fee	Proposed Fee (Excl	Proposed Fee (incl GST)	
Fee Fee	Site Establishment All	Т					Турс	Hours	\$152.90	\$142	1 Toposeu Fee (mor GOT)	

							CURRENT RATES			PROPOS	ED RATES
Monopoly Fee Category	Sub Category	Measure	Туре	Assumptions	Rate (Incl GST)	Rate (Excl GST)	AER Hourly Rate (Incl GST) Type	Standard Hours	Current Fee (Incl GST)	Proposed Fee (Excl GST)	Proposed Fee (incl GST)
Property All Enquiries	All	Per Enquiry		Revenue as per GL /	\$37.00	\$37.00			\$37.00	\$34	\$38

	CURRENT RAT	PROPOSED RATES					
AER Hourly Rate (Incl GST)	Туре	Standard Hours	Current Fee (Incl GST)	Proposed Fee (Excl GST)	Proposed Fee (incl GST)		
	Off Peak Conversions		\$64.90	\$60	\$67		
	Rectification Works		\$243.10	\$227	\$249		
	Disconnections at Pole		\$162.80	\$152	\$167		
	Reconnections at Pole		\$0.00				

	CURRENT RAT	PROPOSED RATES					
AER Hourly Rate (Incl GST)	Туре	Standard Hours	Current Fee (Incl GST)	Proposed Fee (Excl GST)	Proposed Fee (incl GST)		
	Meter Test Fee		\$80.30	\$75	\$82		

	CURRENT RAT	PROPOSED RATES					
AER Hourly Rate (Incl GST)			Current Fee (Incl GST)	Proposed Fee (Excl GST)	Proposed Fee (incl GST)		
	Disconnections at Meter	box	\$96.80	\$90	\$99		
	Disconnection Visit		\$48.40	\$45	\$50		
	Controlled Load Convers	ion	\$64.90	\$60	\$67		
	Special Meter Read		\$48.40	\$45	\$50		